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REhm | BRI | EOE A2 T RETEEN] e g | FIEIEDZE| TISAT
WL‘IJ Ilmiﬁq:i,ﬂx A@_.ﬁnﬁ@
Om 244 246 246 245 245 237 0.8 246
2m 243 242 241 242 24.2 233 0.9 244
5m 237 235 237 238 23.6 228 0.8 236
10m 233 233 233 23.2 23.3 220 1.3 —
B-1m 22.9 22.3 23.3 23.1 22.8 21.5 1.3 23.3
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REME | ZERIqA | EOE 30 | 'W1E'IJ i PR P 2018 T 43¢ AIEIEDZE| THiGHET
PN (Y i 0) A! _!
Om 325 333 333 316 330 33.7 A 07 29.2
2m 327 336 336 33.1 333 338 A 05 32.1
5m 334 34.1 34.1 335 338 339 A 0.1 337
10m 34.4 343 34.4 343 344 34.1 0.3 —
B-1m 34.4 345 345 34.4 345 34.4 0.1 34.1
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REhm | BRI | EOE #7549 [T RIB TN s o | BIEIEDE | THISET
&
Om 8.4 8.5 8.3 8.6 8.4 8.0 04 9.0
2m 8.8 8.1 7.9 8.5 8.2 8.1 0.1 8.8
5m 8.1 7.2 75 8.0 1.6 7.8 A 02 7.7
10m 7.4 7.2 75 7.0 1.4 75 A 0.1 —
B-1m 6.6 6.9 75 7.1 7.0] 7.3 A 03 7.3
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s | mnoq | Bow | #30 [FEEEE Gy
7K 17.1 243 15.6 16.1 11.0
1% BR 4.0 4.0 5.6 4.6 3.0
Bi[a] (6/6) 5.0 4.0 3.5 4.5 25
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Om 0 0 0 2 150
EBRIA | 2m 0 0 0 1 180
5m 0 0 0 2 80
Om 0 0 0 0 65
BENE 2m 0 0 0 1 95
5m 0 0 0 2 120
Om 0 0 0 0 40
H39 2m 0 0 0 0 90
5m 0 0 0 0 220
e sty | O 0 0 0 0 130
RERE ) 0 0 0 1 350
L
5m 0 0 0 0 190
Om 0 0 0 0 45
k= L[] 2m 0 0 0 0 50
5m 0 0 0 0 90



